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Answer five questions, taking one from each Unit
UNIT—I

1. (a) Define a set. What are the two ways of
expressing a set? Give examples. 2+4=6

() If
A={1,35,7 9
B=1{2 3, 4,5, 8
U={0,1,2,3,4,56,7, 8 9, 10}
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ﬁ_nd—
i) AU BS;
(@) (An B)%;
(i) (A-B)°. 3x3=9

Define function. What are the different
types of functions? Give examples. 6

Draw a graph of the linear function

y=-2x+3 Isoirsmodiall 4
Solve the following eqﬁation : 5
6x% -5x-1=0
UNIT—II

Define rational number and irrational
number with examples. : 6

State and explain with example the
axioms of order of real number. 9

State the laws of operations of complex
number with example. 10
Find the values of x and y if

x+4 y

———+——=i

4+i 4-i ’ ‘ 5
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5. (a)

(b)

(b)

(c)

(d)

(b)
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UNIT—III

Define circle. Find the centre and radius
of the circle

x? +y% +8x+10y-8=0 14+6=7

Define parabola. Find the equation of
the parabola whose focus is (2, 3) and
directrix is x-2y-6 =0. 2+6=8

Find the equation of the straight line
passing through P(-1, -5)and Q (5, 4). 3

Find the slope of a line joining the
points (3, 2) and (7, -2). 3

Line through the points (-2, 6) and (4, 8)
is perpendicular to the line passing
through the points (8, 12) and (x, 24).
Find the value of x. 5

If the distance between the points (x, 10)
and (1, 5) is 13 cm, find the value of x. 4

UNIT—IV

Explain the different rules of
differentiation with examples. 10

Pind %Y, ie
dx
() y=10x2 -15x+10

(i) y=@x+1) (x* -2x : 2+3=5
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(4)

8. (a) Find the extreme value of the following

function : 5

y=x3 -9x? +15x+20

(b) A monopolist has the following revenue
and cost functions :

R=300-0?
C=0%-1502 +100+100
Find—

(i) profit maximising output;
(i) maximum profit;
(iii) equilibrium: price;
(iv) point elasticity of demand ' at
equilibrium output. 4+2+2+2=10

UNIT—V

9. (a) State the different rules of integration
with examples. 10

(b) Integrate the following functions : = 2+3=5
() [(x* -2x+1)dx

(@ | (4x3 +%—3)dx

X
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10. (a) If marginal cost function is given as
MC =302% -4Q+6
find—
(i) average cost (AC);

(i) average variable cost (AVC). 2+3=5
(p) What do you mean by consumer’s

surplus and producer’s surplus?

Calculate producer’s surplus if supply

function is given as Q=+v-4+4P and
price (P)=10. 4+6=10

* kX
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